Y2 5
{Ci)% @ “%’\ & trés fragoes, ordem das operagdes

Nome: Encontro: Data: Pontuagao:
3 1 3 I 1 1
_ X _-— - = —_F — X — =
4 4 4 4 2 5
5 5 4 5
3 2
—+100+10= Z4+12+4=
4 3
AL 2()+2+§:
5 2 6 2
2 1
27+9——-= - —80+8=
5 3
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ity
@ S trés fragdes, ordem das operagdes

Nome: Encontro: Data: Pontuagao:
3 1 3 9 1 1 1 7
XL I=D) Zt5%z= 5
4 4 4 16 4 2 5 20
5 5 5 5 4 5 20
3 43 3 2 11 2
-+100+-10= — =10- —+12+4= — =3-
4 00 0 4 04 3 3 33
2 1
5 2 6 15 2 2 2
2 13 3 1 29 2
27+9— —-= — =2 - — =8=(——)=(—9=
7+9 3 5 3 3 80 ~8=( 3) (93)
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